ITEM	DESCRIPTION			KENDALL S	SUPPLY INC.
		Estimated NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT
1	Cold Water Meter. ³ / ₄ -inch x ³ / ₄ -inch , 7 ¹ / ₂ - inch Lay Length as per AWWA C700-90 with modifications to AWWA Standards and Minimum Specifications:	500	EA.	\$98.50	\$49,250.00
2	Cold Water Meter. ³ / ₄ -inch x ³ / ₄ -inch , 9- inch Lay Length as per AWWA C700-90 with modifications to AWWA Standards and Minimum Specifications:	55,000	EA.	\$102.00	\$5,610,000.00
3	Cold Water meter, 1-inch x 1- inch, 10 ³ / ₄ -inch Lay Length as per AWWA C700-90 with attached modification to AWWA Standards and Minimum Specifications:	3,500	EA.	\$146.00	\$511,000.00
4	Cold water meter, ³ / ₄ -inch x ³ / ₄ - inch, 9-inch Lay Length, with built in shut off valve, pressure and temperature sensor, as per AWWA C700-90 with attached modifications to AWWA Standards	500	EA.	\$414.00	\$207,000.00
5	Cold Water Meter, 1 ¹ / ₂ -inch as per AWWA C702-86 with attached modifications to AWWA Standards minimum specifications:	300	EA.	\$1,270.00	\$381,000.00
6	Cold Water Compound Meter, 2-inches, as per AWW C702-86 with attached modify AWWA standards and Minimum Specification:	200	EA.	\$1,395.00	\$279,000.00
7	Cold Water Compound Meter, 3-inches, as per AWW C702-86 with attached modify AWWA standards and Minimum Specification	50	EA.	\$1,680.00	\$84,000.00
8	Cold Water Compound Meter, 4-inches, per AWWA C702-86 with attached modifications to AWWA Standards and Minimum Specification:	200	EA.	\$2,900.00	\$580,000.00

ITEM	DESCRIPTION			KENDALL S	SUPPLY INC.
		Estimated NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT
9	Cold Water Compound Meter, 6-inches, per AWWA C702-86 with attached modifications to AWWA Standards and Minimum Specification:	100	EA.	\$5,200.00	\$520,000.00
10	Cold Water Compound Meter, 8-inches per AWWA C702-86 with attached modification to AWWA Standard and Minimum Specification:	10	EA.	\$8,800.00	\$88,000.00
	Cold Water meters, 4-inches, fire service type as per AWWA C702-86 with attach modification to AWWA Minimum Specifications:	30	EA.	\$6,900.00	\$207,000.00
	Cold Water Meters, 6 inches, fire service type as per AWWA C702-86 with attached modifications to AWWA Standards and Minimum Specifications:	25	EA.	\$9,100.00	\$227,500.00
13	Cold Water Meters, 8-inch, fire service type as per AWWA C702- 86 with attached modifications to AWWA Standards and Minimum Specifications:	20	EA.	\$12,500.00	\$250,000.00
	Cold Water Meters 10-inch, fire service type as per AWWA C702- 86 with attached modifications to AWWA Standards and Minimum Specifications:	2	EA.	\$17,500.00	\$35,000.00
15	Cold Water Meters, 3-inch, fire hydrant hermetically sealed register, magnetic drive, locking register cap. Aluminum main case, epoxy coated carry handle, 2-inch gate valve, turbine measuring element, 1.5% accuracy, complete with fire hose coupling assembly:	200	EA	\$1,300.00	\$260,000.00
16	Cold Water Meters 1 ¹ / ₂ -linches. Turbine type, for irrigation sets, per attached and Minimum Specifications:	100	EA.	\$820.00	\$82,000.00

ITEM	DESCRIPTION			KENDALL S	SUPPLY INC.
		Estimated NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT
17	Single Port Meter Transceiver Unit capable for Drive-by and Flex Net fixed based reading per Minimum Specification:	70,000	EA	\$140.00	\$9,800,000.00
18	Dual Port Meter Transceiver Unit capable for Drive-by and Flex Net fixed based reading per Minimum Specification:	200	EA	\$175.00	\$35,000.00
19	M400 Tower Gateway Base station two-way data collector. Complete turnkey install including all items for activation per minimum specifications,	1	EA	\$65,000.00	\$65,000.00
20	R100 Base Station - two-way data collector. Complete turnkey install including all items for activation, per minimum specifications:	4	EA	\$15,000.00	\$60,000.00
21	Handheld Device for Meter Reading, per minimum specifications:	20	EA.	\$6,600.00	\$132,000.00
22	Bluetooth Touch Read Gun with extension, per minimum specifications:	20	EA	\$1,450.00	\$29,000.00
23	Command Link, communication module for activating Flex Net Transmitters,	25	EA	\$570.00	\$14,250.00
24	Windows Mobile Handheld Device w/ built in GPS, bar code scanner, Cell Card module, Juniper Archer 2, per minimum specifications:	25	EA	\$3,500.00	\$87,500.00
25	Touch Read Plus, per minimum specifications:	25	EA	\$490.00	\$12,250.00
26	Meter Reading Support Services, per minimum specification.	1	EA	\$7,600.00	\$7,600.00

Name of Bid: Water Meter Parts (Annual Contract w/2 Options to Renew) Bid Number: ITB 18-101004

ITEM	DESCRIPTION			KENDALL SUPPLY INC.	
		Estimated NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT
27	Sensus Extended Maintenance Program Services, per minimum specification.	1	EA	\$43,425.00	\$43,425.00
28	Field Services Support Services, per minimum specification.	1	EA	\$3,700.00	\$3,700.00
29	AMI Field Support Services, per minimum specification.	1	EA	\$52,500.00	\$52,500.00
30	Sensus Software as a Service (SaaS), per minimum specification	1	EA	\$124,035.00	\$124,035.00
31	AMR/AMI Customer Service and Support, per minimum specification	1	EA	\$20,520.00	\$20,520.00
32	Water Meter Upgrade and Replacement for 3/4-inch x 7 1/2- inch Lay Length Meters including Transmitter Installation and Activation	200	EA	\$60.00	\$12,000.00
33	Water Meter Upgrade and Replacement for 3/4-inch x 9- inch Lay Length Meters including Transmitter Installation and Activation	18000	EA	\$60.00	\$1,080,000.00
34	Water Meter Upgrade and Replacement for 1-inch x 10 3/4- inch Lay Length Meters including Transmitter Installation and Activation	2000	EA	\$60.00	\$120,000.00
35	Transmitter Installation and Activation Only (Retrofit)	5000	EA	\$30.00	\$21,069,530.00
	GRAND TOTAL	\$21,215	9,530.00		
	SBE Participation/Benchmark GFE			20%	
Attend Manadtory LSBE Prime Meeting				YES	
	chedule in separate sealed Envelope nany bids received		1	YES	
	er of no bids		2		

PRICE TABULATION

ITEM	DESCRIPTION			KENDALL S	SUPPLY INC.	
		Estimated NUMBER OF UNITS	UNIT OF MEASURE	UNIT PRICE	AMOUNT	
Recom	Recommend Award to Kendall Supply, Inc. 2941 Peidmont Rd, N.E., Atlanta, GA					